TotalMarks:.... Class:9th Time:....
Test:Math

Attempt ......... questions

" A ststement involving any of the symbols ug Jfa.. J.... <e>| <c> U"'-(J)QL’ Jﬁ’/

: a) Mol )
a) equation ) S
b) identity b) }f.:-..ww‘iécof ,qJ/:"‘ ﬁ.:bLf(f..l
c) = llssf

c) inequality
d) linear equation

d) :.«bl./(ﬂﬂbg

* x =0 is a solution of the inequality ...... -é.gjg(.:.{f  AR— G'-JIJL"/:; x=0
a) x>0 b) 3x+5<0 a) x>0 b) 3x+5<0
dx+2<0 d) x-2<0 g)x+2<0 d) x-2<0

> Which of the following is the solution of Sy 114’-*'3L“"/:; 3ﬁVU[C-JJ..5Z’/ﬂ
the inequality 3 - 4x < 11 b S
a) -8 b) -2 a) -8 b) -2

i

d) None of these g) ~ L{ d) J‘Uﬁfc..u:uf

* If the capacity ¢ of an elevator is at most  aslJ & slJ 'cali™l d/ Ve d/ L -g

C

1600 pounds, then ..... T, M 301600
a) ¢ <1600 b) ¢>1600 a) ¢ <1600 b) ¢>1600
c) ¢<1600 d) ¢ > 1600 ¢) ¢ <1600 d) ¢>1600

5 o
; o is a solution of the inequality e SX SR e I;L»/ X =
-2<I<% —LJ/JKJJL
a) -5 b) 3 a) -5 b) 3
¢) 0 d) ¢) 0 d) 5

6 . - . z
If x is no larger than 10, then ...... L2 b = [ ;wju(x Al
a) x>8 b) x<10 a) x>8 b) x<10
c) x<10 d) x>10 c) x<10 d) x>10
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